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The general meaning of the verb ‘to motivate’ used in sports is: Answer
option
(c)
a) Abstain b) Refrain ¢) Influence d) Dissuade c¢) Influence
individuals to | individuals to individuals to | individual to individuals
behave behave behave behave to behave
Match the Sports Psychological terms with its meaning:
A. Joker 1. who organizes, makes
difficult decisions and is
prepared to tell others what
they should be doing.
B. Dedicated Professional ii. liked by everybody and will
perform in order to please Answer
others. option
C. Club Captain iii. help the younger (a)
performers and they are a
genuine role model
D. Narcissism iv. an egoistic admiration of
the self and is characterized
by grandiosity and a lack of
empathy
a) A-ii, B-iii, b) A-ii, B-i, C- ¢) A-iii, B-ii, d) A-iii, B-iv, C- | a) A-ii, B-
C-i, D-iv iii, D-iv C-iv, D-i ii, D-i iii, C-i, D-iv
Choose the correct option for the Assertion and Justification stated
below:
Answer
A: Assertion- Neuroticism is essentially emotional instability. option
(d)
B: Justification- Emotionally stable people are less jealous and ore
level headed.
a) Assertion is | b) Assertion is c¢) Both the d) Assertion is d) Assertion
true but false but Assertion and | true and it is is true and it
Justification is | Justification is Justification well explained | is well
not true true are false in the explained in
Justification the
Justification
Choose the correct option and complete the sentence: Answer
option
Genetics is a branch of biological science- (d)
a) which may | b) which are c) which may | d) which deals d)  which
be either physically active | influence with the deals with
inherited or individuals in motor control | transmission of | the
determined recreational performance, | character from | transmissio
environmentall | sport and are makes its parents to n of
y inter-related to unique offspring. character
exercise contribution from
behavior. difficult to parents  to
estimate. offspring.
Antonym of Emotional Stability is Answer
option
(c)




a) Conformity | b) Balanced ¢) Moodiness | d) Sane C)
Moodiness
6 | Choose the correct term for the given definition:
It is concerned with identifying and describing a target behavior, Ansyver
. i . . . . option
identifying possible causes of the behavior, selecting an appropriate (b)
treatment strategy to modify the behavior, and evaluating treatment
outcome
a) Behavior | b)  Behavioral | ¢)  Behavior | d)  Behavioral | b)
Analysis Assessment Sports Interpretation Behavioral
Psychology Assessment
7 | Match the following skills with the actions of the sports/games:
A. Closed Skill 1. Cross-country running Answer
B. Open Skill ii. Tennis serve option
C. Open-air course iii. Playing netball (®)
D. Rebounding iv. Passing a ball in football
a) A-i, B-iii, | b) A-ii, B-iv, C-i, | ¢) A-i, B-ii, C- | d) None of them | b) A-ii, B-
Cii, D-iv D-iii 1i1, D-1v are matching v, C-1, D-iii
8 | Choose the correct type of guidance that can be provided to a sports
person to upgrade his/her performance: Answer
A. Visual .
B. Verbal option
C. Manual @)
D. Psychological
a) ABC | b) Only A | ¢) Only D | d)Band C a) ABC
9 | Read the Assertion and Justification and choose the correct option from Answer
below. option
(c)
A: Assertion- Behavior analysis is the study of the scientific laws that | Sentence B
govern the behavior of humans and other animals is an
example of
B: Justification- Footballer Jason is not motivated might be he arrives | Behavioral
late for practice, doesn’t do his drills, may be misses practice many times | Interpretatio
a season. n not
Behavior
Analysis
a) Both | b) Both | ¢) A is true but | d) A is false and | c) A is true
Assertion and | Assertion  and | B is not its true | B is true but B is not
Justification Justification are | justification its true
are true false justification
10 | “Cognition” mean: Answer
option
()
a) reflexive, | b) belief, | ¢) d) neglect, .

. ) b)  belief,
physical, thought, heedlessness, | ignorance, houeht
emotional and | expectancy and | incomprehensi | misunderstandin thought,
unconscious attitude on and | g and disregard expectancy

.. and attitude
obliviousness




11 | What is the IQ level of Wisdom Answer
option
(a)
a) Less than 70 | b) Less than 40 | ¢) Less than 33 | d) Less than 15 | a) Less than
70
12 | Match the sports with the country it is originated:
A. Cricket 1. England Answer
B. Golf 1i. Italy option
C. Volleyball iii. United States (©)
D. Fencing iv. Scotland
a) A-i, B-ii, C- | b) A-iii, B-i, C- | ¢) A-i, B-iv, C- | d) A-iii, B-iv, C- | ¢) A-i, B-iv,
iii, D-iv iv, D-ii iii, D-ii i, D-ii C-iii, D-ii
13 | Choose the correct statement/statements about Football from the
options given below:
A. The Football League was found in United States. Answer
B. The game consists of two teams with 11 players on each team option
C. The weight of the football is measured on a Pound (b)
D. The standard dimension of the Football Field is 110 meters in length
and 90 meters in breadth approximately.
a) A and C are | b) Band D are c) All are|d)Noneofthem | b) B and D
correct correct correct are correct are correct
14 | Read the statements of Assertion and Justification and choose the correct
option from the following Answer
A: Assertion- The outer angles of a polygon will be 360 degrees opgon
B: Justification- One complete turn is equal to 720 degrees @
a) BothAand B | b) Both A and B | c)Ais falsebut | d)AistruebutB |d) A is
are true are false B is true is false correct but
B is false
15 | The jogging track in a sports complex is 726 metres in circumference. Answer
Arun starts from the same point and walk in opposite direction at 4.5 option
km/hr and 3.75 km/hr respectively. They will meet for the first time in: (a)
a) 5.28 min ‘ b) 5.5 min ‘ ¢) 4.9 min ‘ d) 6 min a) 5.28 min
16 | Which country recently hosted the 2023 FIFA Women's World Cup? C
a) France | b) United States | ¢) Australia | d) Canada Australia
17 | Which COVID-19 variant emerged in 2023 and caused widespread D
concern due to its increased transmissibility?
a) Delta b) Alpha Variant | ¢) Beta Variant | d) Omicron Omicron
Variant (BA.2.86) (JN.1) (JN.1)
(XBB.1.5)
18 | The Udupi Power Corporation Limited thermal plant was ordered to pay
compensation for the cause of damage to the environment and the health A
of people around it. The thermal plant is owned by which of the
following?
a) Adani Group | b) Reliance | ¢) NTPC d) Tata Power Adani
Energy Group
19 | The CDP-SURAKSHA platform has been introduced to promote which B
sector in India?
a) Agriculture | b) Horticulture €) Manufacturi | d) Textiles Horticulture

ng
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20

Which institution conducted the maiden flight trial of the Sea-based

endo-atmospheric interceptor missile? B
a) ISRO | b) DRDO | ¢) HAL | d) BHEL DRDO
21 was the first school of psychology and focused (©)
on breaking down mental processes into the most basic components.
2) 5 Structuralis
Functionalism b) Gestalt Structuralism d) Humanism m
22 | Match the column I (school of psychology) and column II (name of the
psychologist):
1) Psychoanalysis a) C. L. Hull
i1) Behaviourism b) Lev Vygotsky ©)
iii) Gestalt ¢) Sigmund Freud
iv) Constructivism d) Max Wertheimer
a)  ibii- | b)i-d,ii-c, iiih, | c)i-c,ii-a,iii- | d)i-c,ii-d, ii-d, [ ;oo
e . . . d, iv-b
c, iii-a, iv-d iv-a d, iv-b iv-a
23 | 1) A psychologist studying what makes people laugh in different
countries around the world is working on the higher level of
explanation.
i) A psychologist studying what makes people laugh in different
countries around the world is working on the lower level of (@)
explanation.
ii1) Different people react differently to the same situation. This is
referred to as individual differences.
iv) Different people react differently to the same situation. This is
referred to as the Simpson effect.
a)iandiiiare |b)iand ii are c) iii and iv are | d) D) Only i iand iii are
true and 1iii are false | true
true statements. | true statements.
statements. statements statements
24 | A: Assertion: Behaviorism school of psychology believes that it is
impossible to objectively study the mind.
B: Justification: Behaviorism is a school of psychology that is based on (b)
the premise that it is not possible to objectively study the mind, and
therefore that psychologists should limit their attention to the study of
behaviour itself.
Both (A)
8) Both (A) 145 b (A) and and (B) are
and (B) are (B) are true, but true, but (B)
true, but (B) is . ’ ¢)Only (A)is | d) Only (B) is C o
(B) is the correct is the
not the correct . correct. correct.
. explanation of correct
explanation of )
(A) (A). explanation
) of (A).
25 | Who conducts the first social psychology and sport psychology (a)
experiment studying the effects of others on cycling performance.
a) Norman | b) E.W. Scripture | c) G.T.W. | d) R. Cummins Norman
Triplett Patrick Triplett
26 | Professional practice knowledge refers to (d)
a) single case | b) Intuition c) Shared | d) refers to
. refers to
study public knowledge
. . knowledge
experience gained through .
. gained
experience.




through

experience.
27 | Matching the correct pairs of strength and limitations
Strength limitations b
A. holistic 1. lack of explanation (b)
B. innovative 1. Greater susceptibility to bias
C. immediate i1i. Less reliable
a) A-i, B-ii, C- | b) A-iii, B-i, C-ii | ¢) A-ii, B-i, C- | d) b) A-iii, B-ii, | A-iii, B-i,
il il C-i C-ii
28 | Assertion (A): Professional practice knowledge is guided trial-and-error
learning.
Justification(B): Whether you become a physical therapist, coach,
teacher, exercise leader, or athletic trainer, you will use your knowledge (b)
to develop strategies and then to evaluate their effectiveness. With
experience, the exercise and sport science professional become more
proficient and more knowledgeable in practical.
a)bothAand B | b) both Aand B | c) A is correct | d) A is not | both A and
are the correct | are correct but B | but B is not | correct but B is | B are
but B is the | is not the correct | correct correct correct but
correct explanation of A B is not the
explanation of correct
A
29 | The field of study concerned with the ways in which nervous system
activity manifests in behavior is called a
a) behavioral | b) biological | c) d) neuro | Behavioral
neuroscience psychology neuropsycholo | anatomy neuroscienc
gy e
30 | A To effectively use sport and exercise psychology in the field
requires actively developing knowledge.
B. Not necessary to apply scientific principles in your professional
work settings. b
C. Evaluate the utility of scientific principles in the particular
context in which you are involved.
D. Keep current by updating and modifying your scientific
knowledge base.
Only A and C [b)onlyA,Cand |c) only A, B|d)onlyBand D| OnlyA, C
are correct | D are correct |and D are | are correct | and D are
statement. statements correct statement. correct
statement. statement
31 | A drug of abuse, derived from the coca plant, that acts by potentiating
catecholamine stimulation. It is a stimulant of the central nervous system
and an appetite suppressant. Its possession, cultivation, and distribution b
are illegal for non-medicinal and non-government sanctioned purposes
in virtually all parts of the world.
a) nicotine ‘ b) cocaine ‘ c) caffeine ‘ d) enkephalin cocaine
32 | A) Neuroplasticity, also known as neural plasticity or brain
plasticity. )
B) Neuroplasticity plays a crucial role in learning, memory, and

recovery from brain injuries




C)

Neuroplasticity allows the brain to reorganize itself and

compensate for damage, making it a fundamental process for the brain's
ability to adapt and change throughout life.

D)

the connections between neurons can be modified, new neurons

can be created, and existing neurons can change their function.

a) Only A, | b) Only A, C and | ¢) Only B, C, | d) All are correct | All are
Band Darethe | D are correct| and D are | statement correct
correct statement correct statement
statement statement
33 | During a task, Romio is talking himself about ways he can proceed on | Answer
the task. According to the Lev Vygotsky’s ideas on language and | option
thought, this kind of ‘private speech’ is a sign of (b)
a) b) self- c) ego —|d) none of the | Self-
psychological regulation centricism above regulation
disorder
34 | A stage of theory of development explicitly emphasize which of the | Answer
following principles? option
(b)
a) Continu | b) Discontin | ) Cultura | d) Environ | Discontinuit
ity of | uity of | I factors that | ment factors I y of
development development influence developmen
development t
35 | Classical conditioning is (d)
a) Two stimuli | b) Two stimuli; | ¢) Three | d) Two stimuli; | Two
two response stimuli one  response, | stimuli; one
one response,
consequence one
consequenc
e
36 | Match the following a
i) A relatively permanent | A) Acquisition, extinction,
change in an organism's behavior spontaneous recovery,
generalization,
discrimination
i) scientists performed the | B) Experience
study on Little Albert
iii) the processes of Classical | C)Watson and Rayner
Conditioning
iv) Learning from the results of | D) Operant conditioning
your behavior
a)i-B,ii-C,iii | b)i—D,ii—B,iii | ¢)i—D,ii— A, | d)i—B,ii—C,iii | i- B, ii -C, iii
—A,iv)-D -C,iv-A ii—-B,iv-C -D,iv-A —A,iv)-D
37 | Which among the following things should be considered while (d)
formulating a hypothesis?
a) Expected | b)  Operational | ¢) Hypothesis | d) All of the | All of the
relationship definition of | should be | above above
between  the | variables formulated
variables after reviewing

the literature




38 | Which psychological perspective focuses on the influence of (d)
unconscious desires and conflicts on behavior?
a) cognitive | b) behavioral | ¢) d)  Emotional | Psychoanal
psychology psychology Psychoanalytic | processing ytic
psychology psychology
39 | Which of the following statement is correct? (©)
I. The phonological loop is responsible for storing verbal and
auditory information.
ii. The visuospatial sketchpad keeps visual and spatial information
stored.
a) Only 1. b) Only ii. c) Bothiandii | d) Neither i nor | Both 1 and ii
il
40 | The information related to riding a bike, folding a laundry, and (d)
experiencing of climbing a tree as 7 years old is store in-
a) Working | b) Sensory | ¢) Short term | d) Long term | Long term
memory memory memory memory memory
41 | Which of the following variable is not a kind of independent variable? (b)
a) task variable | b) experimental | c) subject | d) environment | Experiment
variable variable variable al variable
42 | Learning from the results of your behavior is called (a)
a) Operant | b) Classical | ¢) d) none of the | Operant
conditioning conditioning Generalization | above conditionin
g
43 |10) Range is not a common measure of central tendency. (b)
i) Standard variance is not a measure of variability.
iii) Variables which can be measured in terms of height, weight and
length are flowchart variables.
iv) The discrete variables and continuous variables are types of
quantitative classification.
a) Only iand ii | b) Only 1 and iv | ¢) Only iii and | d) Only 1 and ii | Only 1 and
are true are true 1v are false are false 1v are true
44 involve methods of organizing, picturing, and (a)
summarizing information from samples and populations.
a) Descriptive | b) Inferential | ¢) Analytical | d) None of the | Descriptive
statistics statistics statistics above statistics
45 | Match the following (a)
i)  Thorndike A)  Operant conditioning
i)  Watson and Pavlov B) Insight theory
iii) Kohler A)  Classical conditioning
Iv) Skinner D)  Trial and error learning
a)i—D,ii—C,|b)i—B,ii—A,iii | ¢)i—B,ii—D, | d) none of the | i—D,ii-C,
m-B,iv-A —-D,iv-C i -A,iv-C | above ii—-B,iv-A
46 | A) Assertion: Thorndike purpose connectionism or trial and error (b)
learning.
B) Justification: Experiment was performed in chickens, rats and cat.
a) A and B are | b) A and B are | c)Ais falsebut | d) None of the | A and B are
correct but B is | correct but B is | B is true above correct but
not the correct | the correct B is the
explanation of | explanation of A correct
A explanation
of A




47 | Astudy to test a hypothesis of a causal relationship between two or more (©)
variables is known as
a) Diagnostic | b)  Descriptive | ¢) Hypothesis | d) Formulative | Hypothesis
research research testing research testing
research research
48 | According to ‘psychology is the positive science of (b)
behavior.
a) Charless F. | b)J. B. Watson | ¢) Charak d) James Drever | J. B Watson
Skinner
49 | Which of the following sampling procedures is least suitable for (d)
generalizing experimental results?
a) Random | b) Purposive | ¢) Incidental | d) Stratified or | Stratified or
sampling sampling sampling quota sampling | quota
sampling
50 | Which of the following statement is true in the context of short term (a)
memory-?
) Its storage capacity is limited
i) Its storage capacity is unlimited
11)) Its maximum duration is 20 to 30 seconds.
iv) Its maximum duration last up to 2 to 3 minutes
a) Onlyiand iii | b) Only ii, iii and | ¢) Only I and | d) Only ii and iv | Only i and
are true | iv are the correct | iv  statements | are true | iii are true
statements statements. are true | statement statements
statement
51 is an important characteristics of episode (c)
memory.
a) Use to|b) Holds all|c) The | d) None of the | The
acquire kinds of | emotional above emotional
different kind | knowledge nature of nature  of
of skills events events
52 | We forget because learning new things interferes with our memory of (d)
what we learned earlier, is a example of
a) Decay \ b) Motivation \ c) Retrieval \ d) interference Interference
53 | Problem oriented research is conducted (b)
a) to resolve | b) to understand | c) solving | d) none of the | to
their own | the exact nature | issues that | above understand
problems by | of the problem impact the the  exact
companies overall well- nature of the
being of problem
human
54 | Psychology word is originated from (a)
a) Greek work | b) The word | c) From | d) None of the | Greek work
Psyche-logos logos-psyche German above Psyche-
language logos
55 deals with the study, diagnosis and treatment of (b)
psychological disorder.
a) Educational | b) Clinical | ¢)  Industrial | d) Social | Clinical
psychology psychology psychology psychology psychology
56 | Which of the following is not a limitations of the survey method? (©)
a) people may | b) people | ¢) public | d) none of the | Public
give inaccurate | sometimes offer | opinion on | above opinion on
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because of the
memory lapser

responses  they
think the
researcher want
to hear

issues
be

new
cannot
obtain fast

new  issue
cannot be
obtain fast

57 | Which of the following is NOT a goal of psychology? (d)
a) to|b) to predict|c) to change |d) to control | To control
understand human behavior | human human behavior | human
human behavior behaviour
behavior
58 | The ability to experience the world around us and ourselves is known (a)
as:
a) b) Perception c) Attention d) emotion Consciousn
Consciousness ess
59 | The main purpose of research in education is to (d)
a) Increase | b) Increase job | c) Help in the | d) Help the | Help the
social status of | prospects of an | personal candidate candidate
an individual individual growth of an | become an | become an
individual eminent eminent
educationist educationist
60 | The study of how people think, solve problems, and make decisions is (a)
known as:
a)  Cognitive | b) Development | ¢) Social | d) Clinical | Cognitive
psychology psychology psychology psychology psychology
61 | Type-I Error occurs if Answer
option
(a)
a) the null | b)the null | b) Both the|c) None of]a) the
hypothesis is hypothesis is | null hypothesis | the above null
rejected even accepted even |as well as hypothesis
though it is though it is false | alternative is rejected
true hypothesis are even though
rejected it is true
62 | The process of arousing, sustaining, and regulating activity in known as | Answer
option
(c)
a) Habit b) Maturati | C) Motiva | d) learning | Motivation
on tion
63 | Match the following: Answer
i) The ‘emotion of fear’ is associate with which | A) Psychological option
basic instinct? (a)
1) what types of factors is motivation? B) Need
iii) What is the factors that direct energize | C) Escape
behaviour of humans?
iv) both dive and incentives are factors in | D) Motivation
mobilizing one’s
a) 1)-C b) 1)-C C) 1)-C d) i)-D i)-C
i)- A i)- A i)- D ii)- C i)-A
iii)- D iii)- D iii)- A iii)- A iii)- D
iv)- B iv)- C iv)- B iv)- B iv)- B
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64 | A: Assertion: Emotion can be defined as the “feeling” aspect of | Answer
consciousness, characterized by three elements: a certain physical | option
arousal, a certain behavior that reveals the feeling to the outside world, | (b)
and an inner
awareness of the feeling
B: Justification: The deepest component, it includes your attitudes and
values, interests and motives, and beliefs about yourself and your self-
worth.

a) Both A | b) Both A |c) Only A | d) OnlyBis | Both A and
and B are true | and B are true | is correct. correct B are true
but B is the | but B is not the but B is not
correct correct the correct
explanation of | explanation of A explanation
A of A
65 | Emotional intelligence is different from other intelligence in that Answer
option
(c)
a) It is a|b) It can be | C) The d) It is a | The focus is
set of skills. measured using | focus is on |new type of | on
test easily. emotional intelligence. emotional
reasoning, reasoning,
ability to ability to
know. know.

66 | The ability to manage emotional reactions in order to achieve one’s goal | Answer

is called option
(d)
a) Emotio | b) Goal- c) Low d) Emotion | Emotion
nal intelligence | direction neuroticism regulation regulation
intelligence

67 | 1) Self motivation refers to work consistency towards their goal. Answer
i) Empathy refers to capacity to understand or feet what another | option
person. (d)

iii)  EI is link to romantic relationship satisfaction because EI may

link to having better understanding of the partner’s emotions.

iv) The five core components according to Dainel Goleman are

sensation, personality, intelligence, memory and learning.

a) Only 1i|b) Only 1ii|c) Only i |d) Only iv | Only iv are
and iii are false | and iii are false | and iv are false | are false false

68 | A: Assertion: The direction of effort refers to whether an individual | Answer
seeks out, approaches, or is attracted to certain situations. option
B: justification: For example, a high school student may be motivated to | (a)
go out for the tennis team, a coach to attend a coaching clinic, a business
woman to join an aerobics class, or an injured athlete to seek medical
treatment.

a) Both A | b) Both A |¢) Only A | d) OnlyBis | Both A and

and B are | and B are correct | is correct | the correct | B are

correct but Bis | but B is the | statement. explanation correct but

not the correct | correct B is the

explanation of | explanation of A. correct

A. explanation
of A.
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69 | Choose the example that illustrate intrinsic motivation Answer
option
(a)
a) Ravi b) Rumi C) Rama | d) Non of | Ravi
exploring completing her | reading more | the above exploring
various sources | homework  so | book so that various
for his project | that his parents | her name is sources for
because he love | let him watch | first in  the his project
learning new | T.V. ‘reading stars’ because he
things. to win her love
teacher’s learning
appreciation. new things.
70 | The word’ emotion’ is derived from Answer
option
(b)
a) Greek | b) Latin C) French | d) None of | Latin word
word ‘emover’ | word ‘emovere’ | word ‘movere’ | the above ‘emovere’
71 | Match the following Answer
Instinct Emotion accompanying it option
i) Flight or escape A) Distress (A)
i) Pugnacity or combat B) Lust
iii) Appeal C) Anger
\%)] Sex, mating D) Fear
a) 1)-D b) )-C C) i)-D d) i)-D i)-D
ii)- C ii)- D i)- C ii)- C i)- C
iii)- A iii)- B iii)- A iii)- B iii)- A
iv- B iv- A iv-B iv- A iv-B
72 |0) Emotional experiences are associate with instinct or biological | Answer
drives. option
i) Emotions are product of perception. (b)
iii) The core of an emotion is feelings.
iv) Emotions bring physiological changes.
a) All b) All  four | ) Only 1i|V) Only ii| All four
four statement | statement are | and iii are true. | are false statement
are false. true. are true.
73 | Which skill is sociological term relating to person’s emotional | Answer
intelligence quotient? option
(a)
a) soft skill b) hard skill c) social skill | d) none of the | Soft skill
above
74 | Which of the following statements is/are True? Answer
) Each edition of the DSM has included fewer pages and diagnoses | option
than the previous edition. (d)
i) Specific diagnostic criteria have been a characteristic of the
DSM since its first edition.
i) DSM-II introduced a multiaxial diagnostic system.
iv) DSM-5, published in May 2013, is the most recent version of the
manual.
a) only 1 and ii | b) only iii and iv | ¢) only 1iii is | d) onlyivistrue | Only iv are
are true are true true true
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75 test involve such activities in which the use of | Answer
language is not necessary. The use of language is eliminated from test | option
contain and response except in given direction (a)

a) non verbal [ b) verbal or | c) group d) individual Non verbal
and non | language and non
language language

76 | A: Assertion: individual verbal test involving the use of language and Answer
administered to an individual at a time belongs to the category. option
B: Justification: An example of such test we can refer to Stanford-Binet (a)
scale. That is the reverse form of the Binet-Simon test.

(a) Both A and | (b) BothAand B | (c) A is true B | (d) Ais false Bis | Both A and

B are true but B | are true but B is | is false. true B are true

is the correct | not the correct but B is the

explanation of | explanation of A. correct

A. explanation
of A.

77 | If a child has mental age 10 years and chronological age of 9 years than | Answer

what will be the IQ of the child option
(d)
a) 133 | b) 95 [ o) 121 [ d) 111 111
78 | If a child who has IQ between 90-110 has ) Answer
option
(®)
a) sharp | b) general | ¢) excellence | d) talented General
intelligence intelligence intelligence intelligence

79 | The has the most important role in building the culture of | Answer

the school. option
(a)
a) school head | b) teachers and | c) academic | d) none of the | School head
parents committee above

80 | A: Assertion: Kretschmer classified personality types. Answer
B: Justification: personality of human beings can be classified into | option
certain biological types according to their physical structure and has | (a)
allotted definite personality characteristics associated with each physical
make up — Pyknic, Athletic and leptosomatic.
a)bothAand B | b) both A and B | ¢) only A is |d)only B is true | Both A and
are true but B is | are true but B is | true but B is | but A is false. B are true
the correct | not the correct | false but B is the
explanation of | explanation of A correct
A explanation

of A.
81 | The most subjective method for measuring personality of a child is Answer
option
(c)
a) interview | b) subjective | ¢) d) sociometry Questionnai
method method questionnaire | method re method
method

82 classified human beings into certain types according to | Answer
their physical structure and attached certain temperamental | option
characteristics like endomorphic, mesomorphic and ectomorphic. (a)

a) Sheldon | b) Jung | ¢) Friedman | d) Kretschmer Sheldon
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83 | Personality is related to Answer
option
(a)
a) persona \ b) emotion | ¢) emotion \ d) physical persona
84 | The data which do not give any useful information are called Answer
option
(c)
a) raw data b) ungroup data | c) either (a) or | d) none of the | Either ‘a’ or
(b) above ‘b’
85 | Match the following Answer
option
(1) Geometric mean (a) Test retest reliability and internal || (a)
consistency reliability express reliability.
(i1) Correlation | (b) is based upon all the observation and it
coefficient is suitable for further mathematical
treatment.
(ii1)) Quantitative and | (c) The best available method for
qualitative discovering relationship when large mass
of data are available.
(iv) Correlation (d) A psychological test is standardized
procedure to measure one or more than
one aspect of trait by means of a sample
of verbal and non verbal behaviour
a) i)-B b) )-A C) )-B d) i)-B i) -B
i) - A ii)-B i) -D i) -A i)-A
iii) - D iii) - C iii) - A iii) - C iii)- D
iv)-C iv)-D iv)-C iv)-D iv)-C
86 | A group of psychologist studied how the adult change and grow both | Answer
psychologically and physiologically, as they age. These psychologists | option
are most like . (d)
a) personalities | b) social c) d) Developme
psychologists | psychologists organizational | developmental | ntal
psychologists | psychologists psychologis
ts
87 | From the second week until the third month after conception, the | Answer
developing organism is called a(n) option
(a)
a) embryo | b) zygote | ¢) fetus | d) neonate embryo
88 | Studies in human development take into a consideration the period from | Answer
option
()
a) birth to death | b) conception to | ¢) birth to d) conception to | Conception
death adolescence adolescence to death
89 | 1) The individual who commits serious crime at the age of ten years | Answer
is termed as juvenile delinquent. option
i) The immediate environment in which an individual life is called | (a)
microsystem
i) According to Frey and Stutzer, 30 to 35 years’ age group are lest
happy age group.
\%) All social science deals with Men as a social creature.
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a) All four|b) All four|c)only (i) and | d) only iii and iv | All four
statement are | statement are | (ii) are true are false statement
true false are true
90 | which of the following factors are responsible alcoholism? Answer
i) Biological factor option
i) Psychological factor (d)
iii) Socio-cultural factor
a) ii only | b)iandii | ¢)iand iii | d) i, ii and iii i, ii and iii
91 | Abnormal forgetting cause by mental trauma and physical trauma is | Answer
called option
(a)
a) amnesia \ b) depression | c) fuge \ d) repression Amnesia
92 | 1) Attention Deficit Hyperactivity Disorder is characterized by | Answer
impulsivity, low attention span, fidgeting, inability to seat for long. option
i) The psychological model that explains abnormal behaviour in | (a)
the light of learning maladaptive ways is behavioral model.
iii) Autism Spectrum disorder is problem in vision and hearing.
Iv) Developing a fear of entering unfamiliar situation is known as
panic disorder.
a) only 1 and ii | b) only ii1 and iv | ¢) only i and ii | d) only iii and iv | Only 1 and
are true are true are false are true ii are true
93 | Which of the following is one reason given that more women than men | Answer
are treated for psychological problems? option
(b)
a) Women are | b) As a result of | ¢) Some forms | d) As a result
subject to | cultural norms, | of mental | Developmental | of cultural
greater  stress | women may be | disorders are | tasks required of | norms,
than men. more willing to | sex-linked women are far | women may
admit distress. recessive. more  difficult | be more
than those | willing  to
required of admit
distress
94 | At the first psychological clinic, the patients were primarily Answer
option
(a)
a) children with | b)adults with | c)children and | d)couples children
school-related | personality adults with | experiencing with school-
problems disorders. depression. relationship related
problems. problems
95 | Many celebrities said to have experienced which type of somatic | Answer
disorder... option
(©)
a) Body | b) ¢) Somatoform | d) none of these | Somatofor
Dysmorphic Hyperchondriasi | Disorder m Disorder
Dearealisation | s
Disorder
96 | Statistical approaches to abnormality define as "abnormal" those who Answer
option
(c)
a) show | b) are unhappy, | ¢) deviate from | d) are disabled | deviate
evidence of | withdrawn, and | typical or | by anxiety. from typical
depressed. average or average
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loss of contact patterns of patterns  of
with reality behavior. behavior.
97 | The following tables are distribution of the lifetime of 400 neon lamps | Answer
Lifetime (in hours) Number of lamps option
1500-2000 14 (a)
2000-2500 56
2500-3000 60
3000-3500 86
3500-4000 74
4000-4500 62
4500-5000 48
Find the median life
a) 3406.98 | b) 3306.98 | ) 3106.98 | d) 3006.98 3406.98
98 | Which of the following is not correct in respect to speed test Answer
option
(b)
a) a speed test | b)inaspeedtest, | c) in a speed |d) in a speed |in a speed
evaluate the | all the items are | test, the test |test, all time | test, all the
individual on | of different | taker is | items are at the | items are of
the basis of | degree of | required to | same degree of | different
time taken to | difficulty. answer all the | difficulty. degree  of
answer the items. difficulty
items correctly.
99 | In a negative skewed distribution of the position of the mean with | Answer
reference to the median is option
(a)
a) left of the | b) right of the |c) same as |d)sameasmode | Left of the
median median median median
10 | Normalized standard score are generally called Answer
0 option
(d)
a) t - score b) f - score C) ¢ - score d) none of these | None of
these
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